78 (OUT-TO-0UT)

‘l!!l’ OPP

=
D
7
O
T3
3 AL
X
<t
BUNK BED FRAMING PLAN
SCALE: 1=1"-0
41% (OUT-TO-0UT)
1BP1L 1BP1R
(LEFTHAND 51/2 301/2 51/2 (RIGHTHAND
POST) POST)
NG
G N /
B 1ER1 H
N / ©
L() T T
>C\\] “f@f”‘;/r - ‘R;‘@
Lo o 11 ey N
o 1LR1 9
//*<sm
B H
=R 3, 35% 30N
— g W W ‘_
00
N - 1ERT =
/ a
- N
X N

END ELEVATION VIEW

SCALE: 1=1"-0

(FOOT END OF BED)

78 (OUT-TO—0UT)

1%

1%

08 TALL

- //1TR1
N
TMS1
:r\ (F.S.) 00
L0
~ ’ ]
8 W .
\ a
1BP1R 1SR1 1BP1L L
’/(RIGHTHAND (LEFTHAND\“% N
N POST) POST) N
> =

) 2
I
|
|
|
l
™
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
!

777777777777777777777777777777777777777777777777777

9%

1% (OUT=TO-0UT)

SIDE ELEVATION VIEW

AT

5

3054

5

58 TALL

N
N
- - //ﬁ1ER1 B////fTZS #10 x 2'2 SCREWS, TYP.
L
%\I :}i/r - :—Rjj
SN v
1BP1L 1BP1R
'/(LEFTHAND ’/(RIGHTHAND
= POST) POST)
N
//ﬁ1ER1
‘:(C)\] ‘SE/E:@, - - 777\?::
A v
"N
(@)

3 END ELEVATION VIEW

SCALE: 1=1"-0

(HEAD END OF BED)

SCALE: 1=1"-0

(52) T25 SCREWS REQUIRED

FFA chapters across our state are participating
in a statewide service project by building
single and bunk beds for children in need.
For more information contact the chapter nearest you!

L = e R L L]
iy St ] Pl
il Ll s S

b | g T B
o Rewwaliaes @l TR
e i T T e e T

oyt oy s s Tt b R e e e it ] L Y e R ]

i Loy - el Dl B B Tl - mall T R e Lt sy - 0T W T 7Y

Ty gl i T L e e i ot Rl B TR -

s R b ibe BMaka rE Taah l.—-‘_l_‘h_ Prarm s bl b M s sl
e B g iy e e el B e L PR

el L T T TR e g s i e B e R I

el e Sl e [ i e [ Vi i il A il |l e g T Sy Bahon 8 b g i

o g e i Sl B T e f— A0 B L

e e L . ] b | e | —

Wl Firgal Siagh n S

1 Bl | e - L . Pl e B akiay L0 BLT BAE

plin Biplaey ol el bt e Sppige - Rl B = T T R el B e

ey el T [E e L P Tl el =
fapmen apmna § et p iy Tk g gl W ey L Ll P et P R
uh | G el YO A g ) F1" TS Figmer ] | e -y LT el
FomarE e | LT o L S il N e W
Y — R I e ol S Yempmes empess La [ 10

o i1 g 0. - 3§
Wamassiaa Frrse=t Pogh Lt

e e e S

St by - .3 B R T ey
i eyl = . i [y e S R R T s T i [~ -
P— " - A vl o e wd e Son o g i e rw e W
B Ly & "IN i, ity [ s g gl e B ghitad Manbad (e 0 TD
sl — I N e e it o N - ST

e e e Tl i e L T

Fre My« & L b s — T i i g g s o
P il T ca s L S P el - ) B e e—— L T N
iy presigegsagiom § 1P = 4 o g g g e

[ Rt SRS Y
e i e g e g

s Y g B s b
b, et « A AL
La LEL Lal B e e

FOR ASSEMBLY

FFA PROJECT

WOODEN BUNK BED
ASSEMBLY DRAWING

JGG

10/01/18

Al



AutoCAD SHX Text
BUNK BED FRAMING PLAN

AutoCAD SHX Text
SCALE: 1=1'-0

AutoCAD SHX Text
A1

AutoCAD SHX Text
1

AutoCAD SHX Text
A1

AutoCAD SHX Text
2

AutoCAD SHX Text
A1

AutoCAD SHX Text
1

AutoCAD SHX Text
A1

AutoCAD SHX Text
3

AutoCAD SHX Text
OPP

AutoCAD SHX Text
SIDE ELEVATION VIEW

AutoCAD SHX Text
SCALE: 1=1'-0

AutoCAD SHX Text
A1

AutoCAD SHX Text
1

AutoCAD SHX Text
END ELEVATION VIEW

AutoCAD SHX Text
SCALE: 1=1'-0

AutoCAD SHX Text
A1

AutoCAD SHX Text
2

AutoCAD SHX Text
END ELEVATION VIEW

AutoCAD SHX Text
SCALE: 1=1'-0

AutoCAD SHX Text
A1

AutoCAD SHX Text
3

AutoCAD SHX Text
(FOOT END OF BED)

AutoCAD SHX Text
(HEAD END OF BED)

AutoCAD SHX Text
1ER1

AutoCAD SHX Text
1ER1

AutoCAD SHX Text
1BP1R

AutoCAD SHX Text
(RIGHTHAND POST)

AutoCAD SHX Text
1BP1L

AutoCAD SHX Text
(LEFTHAND POST)

AutoCAD SHX Text
1SR1

AutoCAD SHX Text
1SR1

AutoCAD SHX Text
1TR1

AutoCAD SHX Text
1BP1R

AutoCAD SHX Text
(RIGHTHAND POST)

AutoCAD SHX Text
1BP1L

AutoCAD SHX Text
(LEFTHAND POST)

AutoCAD SHX Text
1LR1

AutoCAD SHX Text
(3X)

AutoCAD SHX Text
1ER1

AutoCAD SHX Text
1ER1

AutoCAD SHX Text
1LR1

AutoCAD SHX Text
(3X)

AutoCAD SHX Text
1BP1R

AutoCAD SHX Text
(RIGHTHAND POST)

AutoCAD SHX Text
1BP1L

AutoCAD SHX Text
(LEFTHAND POST)

AutoCAD SHX Text
1MS1

AutoCAD SHX Text
(F.S.)

AutoCAD SHX Text
1MS1

AutoCAD SHX Text
(F.S.)

AutoCAD SHX Text
A1

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
FFA PROJECT

AutoCAD SHX Text
10/01/18

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JGG

AutoCAD SHX Text
DRAWN BY:

AutoCAD SHX Text
WOODEN BUNK BED ASSEMBLY DRAWING

AutoCAD SHX Text
T25 #10 x 2`8 SCREWS, TYP.

AutoCAD SHX Text
(52) T25 SCREWS REQUIRED FOR ASSEMBLY


]r(NOMNAL 2x6)

5%
. . SHOP NOTE: THESE 2 HOLES ARE
74 4 74 ON THIS SIDE FOR LEFTHAND POSTS
RIGHTHAND POSTS THE 2 HOLES
ARE ON THE OPPOSITE SIDE.
x o
\ ,{Y 5714
T o D S I
jr/‘ A
~ <
™
| | 48%
g | 457
0@)
LO A
= N PREDRILL '8% HOLES, TYP.
N
|
<Z( /
=
O
=
| 14
g o
B PN

(2L-2R) — BED POSTS - 1BP1L

REF: AT

SCALE: 1'2=1"-0

(LEFTHAND POST AS SHOWN)

(NOMINAL 2x6 SPLIT IN

—_—

2) x 75

)

5

BILL OF MATERIAL
ary | HECE %LTJE MATERIAL DESCRIPTION TN
oL_oR PR/t — | BED POSTS
3 3 4 | 1SR1 | - | SIDE RALS
(NOM|NA|_ 2X6) 4 NOMINAL 2x6 LUMBER 6 3
¢ 4 | NOMINAL 2x6 SPLIT LUMBER 6 | 0
N 24 | 125 #10 x 2'2 SCREWS
T T25 #10 x 2'2 SCREWS,
D v SPACED AS SHOWN
. e . . . . . . . . . . . - 4 | 1ER1 | - | END RAILS
- 4 | NOMINAL 2x6 LUMBER 2 |6
N 4| NOMNAL 246 SPLIT LUMBER 3 |20y
1 12 | 125 #10 x 2'2 SCREWS
2 2 3 | 1LR1 | — | LADDER RUNGS
(NOMINAL 2x6 SPLIT IN 12) . 70 NS 3 | NOMINAL 2x6 SPLT LUMBER 2 11119
2 | 1R1 | - | TOP RAILS
2 | NOMINAL 2x6 SPUT LUMBER 6 | 3
4 — SIDE RAILS — 1SR1
SHIP LOOSE ITEMS
REF: A1 SCALE: 11221’—0
2 | 1MS1| — | MATTRESS SUPPORTS
2 | 34 MDF x 38"2 6 | 3
(NOMINAL 2)(6) X 301/2 F.S.
4 |7 2.4
(NOMINAL 2x6) 1
N (NOM. 2x6 SPLIT IN '2) x 35/
I 125 #10 x 2'2 SCREWS, 1
— |l SPACED AS SHOWN L, Ve 1/
7777777777 1
- \ ! s (NOM. 2x6 SPLIT IN '2)
N
(NOM. 2x6 SPLIT IN '2) N N — S ]
5 134 13% 5 - X Q —H-— % —
>N 1
PREDRILL '8% HOLES, TYP.
(NOM. 2x6 SPLIT IN '2) x 38% N.S.

4

END RAILS -

TERT

REF: Al

2%

2 — TOP RAILS - 1TRT

REF: AT SCALE: 1'2=1"-0

(NOM. 2x6 SPLIT IN '2)

SCALE: 1'2=1"=0

5 — LADDER RUNGS - T1LRT
REF: A SCALE: 1'2=1"-0

FFA PROJECT

DRAWING NOTES:
NOMINAL 2x6 LUMBER — ACTUAL SIZE 1%” x 545"
F.S. — FAR SIDE

N.S. — NEAR SIDE

WOODEN BUNK BED
DETAIL DRAWING

DRAWN BY: JGG

DATE: | 10/01/18

DRAWING NO. 1



AutoCAD SHX Text
14

AutoCAD SHX Text
45`W

AutoCAD SHX Text
48`W

AutoCAD SHX Text
57`4

AutoCAD SHX Text
56

AutoCAD SHX Text
11

AutoCAD SHX Text
PREDRILL `2`O HOLES, TYP.

AutoCAD SHX Text
(NOMINAL 2x6)

AutoCAD SHX Text
(NOM. 2x6 SPLIT IN `8)

AutoCAD SHX Text
T25 #10 x 2`8 SCREWS, SPACED AS SHOWN

AutoCAD SHX Text
(NOMINAL 2x6)

AutoCAD SHX Text
(NOM. 2x6 SPLIT IN `8)

AutoCAD SHX Text
T25 #10 x 2`8 SCREWS, SPACED AS SHOWN

AutoCAD SHX Text
MATERIAL DESCRIPTION

AutoCAD SHX Text
MARK

AutoCAD SHX Text
BILL OF MATERIAL

AutoCAD SHX Text
2`G-2`F

AutoCAD SHX Text
1BP1`H

AutoCAD SHX Text
-

AutoCAD SHX Text
BED POSTS

AutoCAD SHX Text
(2L-2R) - BED POSTS - 1BP1L

AutoCAD SHX Text
REF: A1              SCALE: 1`8=1'-0

AutoCAD SHX Text
4 - SIDE RAILS - 1SR1

AutoCAD SHX Text
REF: A1      SCALE: 1`8=1'-0

AutoCAD SHX Text
4 - END RAILS - 1ER1

AutoCAD SHX Text
REF: A1      SCALE: 1`8=1'-0

AutoCAD SHX Text
PREDRILL `2`O HOLES, TYP.

AutoCAD SHX Text
3 - LADDER RUNGS - 1LR1

AutoCAD SHX Text
REF: A1         SCALE: 1`8=1'-0

AutoCAD SHX Text
2 - TOP RAILS - 1TR1

AutoCAD SHX Text
REF: A1      SCALE: 1`8=1'-0

AutoCAD SHX Text
(NOM. 2x6 SPLIT IN `8)

AutoCAD SHX Text
(NOM. 2x6 SPLIT IN `8)

AutoCAD SHX Text
QTY

AutoCAD SHX Text
PIECE

AutoCAD SHX Text
FT

AutoCAD SHX Text
IN

AutoCAD SHX Text
QTY

AutoCAD SHX Text
SUB

AutoCAD SHX Text
4

AutoCAD SHX Text
NOMINAL 2x6 LUMBER

AutoCAD SHX Text
4

AutoCAD SHX Text
10

AutoCAD SHX Text
4

AutoCAD SHX Text
1SR1

AutoCAD SHX Text
-

AutoCAD SHX Text
SIDE RAILS

AutoCAD SHX Text
4

AutoCAD SHX Text
NOMINAL 2x6 LUMBER

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
NOMINAL 2x6 SPLIT LUMBER

AutoCAD SHX Text
6

AutoCAD SHX Text
0

AutoCAD SHX Text
4

AutoCAD SHX Text
1ER1

AutoCAD SHX Text
-

AutoCAD SHX Text
END RAILS

AutoCAD SHX Text
4

AutoCAD SHX Text
NOMINAL 2x6 LUMBER

AutoCAD SHX Text
2

AutoCAD SHX Text
6`8

AutoCAD SHX Text
4

AutoCAD SHX Text
NOMINAL 2x6 SPLIT LUMBER

AutoCAD SHX Text
3

AutoCAD SHX Text
2`8

AutoCAD SHX Text
3

AutoCAD SHX Text
1LR1

AutoCAD SHX Text
-

AutoCAD SHX Text
LADDER RUNGS

AutoCAD SHX Text
3

AutoCAD SHX Text
NOMINAL 2x6 SPLIT LUMBER

AutoCAD SHX Text
2

AutoCAD SHX Text
11`8

AutoCAD SHX Text
2

AutoCAD SHX Text
1TR1

AutoCAD SHX Text
-

AutoCAD SHX Text
TOP RAILS

AutoCAD SHX Text
2

AutoCAD SHX Text
NOMINAL 2x6 SPLIT LUMBER

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
24

AutoCAD SHX Text
T25 #10 x 2`8 SCREWS

AutoCAD SHX Text
12

AutoCAD SHX Text
T25 #10 x 2`8 SCREWS

AutoCAD SHX Text
(NOMINAL 2x6)

AutoCAD SHX Text
SHIP LOOSE ITEMS

AutoCAD SHX Text
2

AutoCAD SHX Text
1MS1

AutoCAD SHX Text
-

AutoCAD SHX Text
MATTRESS SUPPORTS

AutoCAD SHX Text
2

AutoCAD SHX Text
`W MDF x 38`8

AutoCAD SHX Text
6

AutoCAD SHX Text
3

AutoCAD SHX Text
(LEFTHAND POST AS SHOWN)

AutoCAD SHX Text
DRAWING NOTES: NOMINAL 2x6 LUMBER - ACTUAL SIZE 1 " x 5 " 12" x 5 " 12" F.S. - FAR SIDE N.S. - NEAR SIDE

AutoCAD SHX Text
1

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
FFA PROJECT

AutoCAD SHX Text
10/01/18

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
JGG

AutoCAD SHX Text
DRAWN BY:

AutoCAD SHX Text
WOODEN BUNK BED DETAIL DRAWING

AutoCAD SHX Text
SHOP NOTE: THESE 2 HOLES ARE ON THIS SIDE FOR LEFTHAND POSTS, RIGHTHAND POSTS THE 2 HOLES ARE ON THE OPPOSITE SIDE. 


	A1
	Sheets and Views
	Model
	ALL
	A
	I
	B
	J
	C
	K
	D
	L
	E
	M
	F
	N
	G
	O
	H
	P
	ABEF
	BCFG
	CDGH
	GHKL
	FGJK
	EFIJ
	IJMN
	JKNO
	KLOP



	1
	Sheets and Views
	Model
	ALL
	A
	I
	B
	J
	C
	K
	D
	L
	E
	M
	F
	N
	G
	O
	H
	P
	ABEF
	BCFG
	CDGH
	GHKL
	FGJK
	EFIJ
	IJMN
	JKNO
	KLOP




